
30
.0

0

15.00 O.D.

1.13

1.13
2.88

8.
44

1.00 1.00
10.00

7.
37

10
.7

5
16

.3
1

A

5

8

12

20

16

11

7

6

9

4

11

13

14

2

14

13

18

19

4.84 I.D.

2.22

 2.875 

1

18

15

17

22

21

23

4.504.50

2.03

.75

2.19

2.00

D B C

24

25

3

2

NOTES:
FOR LABELING LOCATION SEE DRAWING #1096668.1.

FEATURE TABLE
ITEM QTY DESCRIPTION

A 6 STD. MNTG. EMBOSS
B 1 1/4" SOLID K.O.
C 1 1/4", 1/2" CONC. K.O.
D 5 1", 1 1/4", 1 1/2", 2", 2 1/2", 3" CONC. K.O.

ITEM QTY. PART NUMBER DESCRIPTION

1 1 1008324 SHELL WELDMENT

2 1 1001186 LARGE CLOSING PLATE

3 1 1001218 FRONT ASS'Y., RINGLESS

4 1 1008435 INSULATOR SUPPORT ASSY.

5 1 1008302 INSULATOR

6 1 1026583 1/0 CONNECTOR ASS'Y

7 1 1008301 GROUND BUS

8 1 1028309 4 TERM HD BLOCK ASSY.

9 1 1008433 STAKED LEFT LOAD BUS ASSY.

10 1 1008434 STAKED RIGHT LOAD BUS ASSY

11 3 1007327 SINGLE 600kcmil OR DUAL 250kcmil

12 3 1007301 2 POSITION 350kcmil CONNECTOR 

13 8 1001273 NUT, 3/8-16 HEX W/BELL

14 8 1001270 WASHER, 3/8 FLAT

15 1 1156422 SCREW 12-24 x 1/2

16 1 1000042 WASHER, 1/4" FLAT SAE 

17 1 1104528 SCREW 12-24 x .750

18 3 1000193 SCREW, 12-24 x 3/8

19 3 1123646 SCREW 12-24 X 9/16 HX ST

20 2 1001297 SCREW, 3/8-16 X 1 1/4

21 1 1134975 LABEL, RATING

22 1 1001272 LABEL, BY-PASS INSTR.

23 1 1150509 NEUTRAL KIT LABEL

24 1 1000064 LABEL, DANGER

25 1 1000158 PAD WIREMAN, 8.37 x 7.50 

26 1 1001317 CARTON (NOT SHOWN)

1103192

Material:

Finish:

Catalog No.:

Title:

Customer:

Drawing No.:

KANSAS CITY, MO  USA

Drawn By:

Scale: NTS
Date:

16 GA. STEEL

320A 4T RL SWY HD LVR UG

Sheet: 1 of 19/16/2019

Tolerances:
Unless Specified Otherwise

X.X
X.XX
X.XXX
X 2

.015

.03

.1

Third Angle

Checked By:
Approved By:

Part Wt.:

REV. DATE DESCRIPTION BY
DEFADD 1176882 TO RETAIL NOTE4/27/15N1

O
P

04/07/20
09/02/21 

1028309 WAS 1106040; SEPARATED THIS CONFIGURATION FROM 1797 AND REMOVED CHARTS
1000193 WAS 1000183 

BU
 BLY

Thursday, September 2, 2021 10:31:54 AM bly

31.724

Shear/Die No.: ~
MILBANK LIGHT GRAY

S1797-X-K3L-K2L

MILBANK STANDARD

MH

1103192

Square Inches: ~
LBS. EA.

ECO No.
031909
043138
048736


